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Multiplication without Regrouping

€ multiply 12by 3.
12%x3=7?

First, multiply the ones by 3.
2 onesx 3 = G ones

;I

Then, multiply the tens by 3.
" ltenx3=3tens
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So, 12 x 3 = 36.

When we multiply 36 Is the product
12 by 3, we get the of 12 and 3.
product of 12 and 3.

e Find the product of 43 and 2.

43x2=7

First, multiply the ones by 2. 43
Jonesx2= ones x 2
Then, multiply the tens by 2. 43
Adtensx2 = tens x 2
50,43 x 2 =

The product of 43 ond 2 is

°Multipi'¢.
0 =214 O 41 0 32 0 21

x 2 ®x 2 x 3 x 4
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